[image: image1.jpg]


6


RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


D2SDM
Ducati Monster 600/625/695/750/800/900
900S/S2R/S4/S4R/S1000/S4RS 

2001-
	ID.
	Description
	Cat.no
	Pcs

	1
	SLDM adapter
	537/B
	1

	2
	Nut M12
	811
	1

	3
	Dural. roller d=50mm
	286
	1

	4
	Bolt M6x20
	1024
	2

	5
	Washer M6
	1023
	2

	6
	Dural. roller d=50mm
	208
	1

	7
	Rod  M12x470x30x30
	
	1


Left side mounting kit:



Right side mounting kit:
	ID.
	Description
	Cat.no
	Pcs

	1
	SLDM adapter
	537/B
	1

	2
	Nut M12
	811
	1

	3
	Dural.roller d=50mm
	286
	1

	4
	Bolt M6x20
	1024
	2

	5
	Washer M6
	1023
	2

	6
	Dural. roller d=50mm
	208
	1


Montáž:
1. Remove original bolt M12 from the frame of motorcycle.
2. Insert the M12x470 ID.7 stainless steel rod through the 2nd frame
3. Put duralumin rollers (ID.3) on both sides of this stainless steel rod - wider in the right rollers ID.6.
4. Then insert the SLDM adapter ID.1 and remove it with the M12 ID.2 nuts
5. Finally, screw the slider with M6x20 ID.4 screws and M8 ID.5 washers.
We recommend to use the glue on all threads (medium strong).
[image: image2.jpg]


[image: image3.png]



1

